Table A3. Evaluative matrix of synergies and trade-offs between Icelandic tourism and SDG targets

SUSTAINABLE DEVELOPMENT GOAL

TARGET | 1 2 3 4 5 6 15 16 17
1 020 | 000 | 000 | 000 | -040 | 0.00 0.80 -0.20 | -0.80

2 0.60 0.00 | 000 | -0.40 | 0.00
3 0.00 050 | 0.00 -0.60 | 0.80 | 0.00
4 000 | 040

5 -0.60 | 0.20

6

7

8

9

10 0.00 | 0.00
11 0.00
12 0.00
13 0.00
14

15 | 0.00 |
16

17

18 0.00
19 0.00
A -0.80 | -0.60 | 0.00 | 000 | 020 050 | 0.00 | 040 | -020 | 0.00

B 020 | 000 | 000 | 000 | 0.00 075 | 0.00 | 000 | 0.00 | 0.60

C 000 | 000 | 000 | 020 0.25 0.00 | 0.00

D 0.20
Synergy(cn)

Neither sinerrl;i nor trade-off i-l > X > 1i

Target does not exist




